(Romdom Number)

(Random Process)

31

12534: 29)

(Replication)
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3l

3.3
2 2
331 K |
3311
(Ko)
P [ ()
K=
P
3312
33121 2X2
pofll := p*ptk*p(l-p);
po[2] := p*(l-p)*(I-k);
po(3] = pof2] ;
pof4] = (-p)*(--p)kp*(l-p)
33122 (Uniformly Distributed Random
Number)
= random ;
03
33123

if <=p[l] then n[l] = n[l]+I else
if ( >p[l]) and ( <= p[l]+p[2]) then n[2] = n[2]+1 6 6
it (> pll+pl2]) and (<= pll]+p[2]+p[3]) then

n@3] = n(3]+l etee n[4] = n[4]+ ;



pill
pl2]
3]
n[dl
11
2
[]
14

33124

forj =1t do
3313

for 1=1t0 4 do

begin
x:=0 ; xx:=00 :
x= n[l-(nu*po[l]) ;
XX= X*X
N S )
SSOx = SSx+3qx ;
end:;
if SSgx > x2 then
begin
Noas = Noas + 1,
end
eke
SSOX

X2 (

32
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33. 4

5 1
000
Const re=1000;
while T < re do
begin
=i+l
3315

form:= to5do

begin {printout}

if _k[m] = 0 then

writeInC Not enough number of obsavation of calulate
ebe

begin

mean[m] = sum(ml/ _k[m];

mse[m] = ssq[m] /[ _k[m];

m_hias[m] := sbias[m] / _k[m);

%[m] = rej[m}/ _k[m];

writeCK'm," mean=1mean[m]:8:5,> m_bias="m_bias[m]:8:5);

write(": mse="mse[m]:9:5);

writeln(" % = 124[ ]95);

end;
end; {printout}
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3321

2 (Ka)

K[ =
P{]] =

K[2] =
pl2] =
[ =
3322 !

For 1:=1t0?2
3323

For 1:= to?2

if (SSax[I] > x2) or (SSux[2] > x2) then

begin
Noas := Noas + 1
end
66
3324

34
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3325

{Out put}

Clrscr:
write('\Value kappa groupl is
writelnC Value kappa group2 is 'K[2]:33,%);
write(Population groupl s o0[l]:3:31);
writeInC Population group2 is \p[2]:3:3,");
write(Number of observation groupl is " []:3L);
writelnC Number of observation group2 is  "hu[2]:3,");
writeInC ;
fort 1to3do

begin

_reft] = re-ncft]

le[t] := rej[t]/n_re[t];

Delt] := acc[t)n_re[t];

Power[t]  1-lie[t]

writeCTest't," Accept="aco[t]:4, Reject="re|[t]:4);

if k[1] = k[2] then

writenC Type I error="le[t]:5:5)

eke writeInC Power="Powerjt]:5:5);

end;
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